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B O E B it (TRZ-HEZD %, ST F.
SRR ISSEM
fow S e 1 mic | e | oo | AR m
- |&¥m — | 1.00000
+T LZE | (BsTy—F m | 0.00171 0.1/[RC—40
2 |5vva—5 m | 0.00244 0.1/[C—40
3 VFvie—Tr m | 0.0026¢ 0.1{C—30
4 |t m | 0.00134 0.1
5 | m | 0.00147 o.LPIE
6 [322Y—piaHE # | 0.00075 1]300 X 40 X 995
7 |mrrY—MitR ¥ | 0.00083 1/300 X 50 X 995
8 [22)—MRIR ¥ | 0.00104 1300 X 40 X 1493
9 |2 7Y—MiK % | 0.00082 11200 X 50 X 1495
10 |22 —hiHE #% | o0.00114 11300 X 50 X 1495
11 {229 —MiHR # | o.o0140 11300 X 60 X 1495
12 |3 79— | 0.00124 1[300 X 40 X 1995
13 |3 7Y — iR ¥ | 0.00144 1/300 X 50 X 1995
1 ki =r2Y—b R 42 { 0.00093 1| © 100 X 1000
15 |§fh= 7Y —b i A | 0.00100 1] 4100 % 1200
16 |8:ih=r7Y— bRk A | 0.00116 1| 4100 X 1500
17 |§%ii%= 7Y —b AU A | 0.00138 1{ 9100 X 1800
18 (§kh=r 29—k ki A | 0.00156 1} 100 X 2000
19 |$kip=2 7Y —h Akl A& | 0.00173 1{9127x1500
20 |BkApa 2y —hAEL A& | 0.00200 1] @127 X 2000
21 (& 2Y—hiLbL A | 0.00239 19127 X 2500
22 |SkMha 2Y—hALbi A | 0.00278 19127 X 3000
23 [k # | o0.00008 1{62%48cm 28
PG iEm L HE 24 |B=2Y—hURER 4 | 0.00048 1120/ L=600 18kg/88
25 |fkAh= L 2 —hU RIS 9 | 0.00055 1350/ L=600 24ke/fE
26 |Bkilhz L 2Y—hPURH 14 | o0.00063 180/ L=600 34kg/IR
27 |§kin= L 7Y —bUL i ¥ | 0.00068 1{2404 L=600 55kg/fH
28 [&kAma Z9—RUKMMIE # | o.00086 1|1300A/8 L=600 70kg/fE
29 |8kih= L 29— UMY # | 0.00087 130081 L=600 79kg/fd
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0.00114

30 [ERAR= 7Y — U 1] 1{300CH 1.=600 92kg/f3
KT b3 VP OB SELTT 3 fii | 0.00114 1[360A5] L=600 90ke/f8
32 |8kias 29— UK fa | 0.00125 1360811 L=600 100ke/f
33 |82 2 Y—PURME W | 0.00177 1|450H) L=600 134ke/fAl
34 |JISEMIR (IS 1FD) A | 0.00371 11250/8 L=2000 290kg/A&
35 |HISEM (S 1Fi) A | 0.00448 1{300A)1) L=2000 348ke/#
36 [ISEUMIE QIS 17K) A | 0.00548 13008/ L=2000 419kg/A
37 |NSBUMK QIS 118} # | 0.00659 1{300CH] L=2000 496kg/4
38 {NSKHUNK IS 1K) A | 0.00594 11400Af8 L=2000 457ke/#
39 [NIsEMuE: (IS 148 X | 0.00708 114008/ L=2000 536ke/4
10 [JISEUMISE OIS 1HD) 4 | 0.00778 1/500A/H L=2000 593kg/#4:
41 | ST (S 15E) A | 0.00912 1/500B/ L=2000 680kg/A<
42 DISEUMIE QIS 1K) £ | 0.00204 1/250A1 L=1000 145kg/4
43 |ISHUR IS 1) A | 0.00246 1[300A/ L=1000 174ke/4
44 |IISIHHNIK (1S 14D # | 0.00301 1{300BH] L=1000 209ke/A
45 ISR (IS 1) & | 0.00362 1{300CA L=1000 217ke/A:
46 [NISTMIN (IS 15E) A | 0.00327 1{400AJ1) L=1000 228kg/4<
47 ISHIEQIS 1H0) 4 | 0.00388 1|400BA) L=1000 2B8ke/#
48 |NSHAWIN (IS 15E) A& | 0.00128 1{500Af1 L=1000 296kg/4
19 [ISBHMIE(IS 17E) 4 | 0.00502 15008/ L=1000 340kg/#A
50 PISBNIRQIS 27K) A | 0.00509 11250/ L=2000 332ke/4:
51 [IsBN IS 24) A | 0.00603 1|300A/8 L=2000 419kg/4
52 |NISEMNIE (IS 276 A | 0.00725 1(300B5H L=2000 471ke/#
53 |NISKHMIR (IS 210 # | 0.00888 1|300CH] 1.=2000 584kg/A
54 JISKBUIN (NS 2H) A | 0.00822 1|100A/ L=2000 S16kg/#A<
55 JISHNIN (NS 2fT) A | 0.00993 1]100BJH L=2000 631ke/A
56 |JISMHI% (IS 245) A | 0.00279 1|250A) L=1000 166ks/#
57 |IISEUUIN (IS 210) & | 0.00331 1{300AJi) 1L=1000 209kg/A
58 (NSBIN IS 24d) # | 0.00398 1/1300BJl] L=1000 235ke/A
59 NSNS 2HD # | 0.00489 1[300CH] L=1000 346kg/#
60 |JISMIIN (1S 218) A | 0.00434 1{400AH] L=1000 258kg/A
61 |JISKHMIE (NS 2H) A | 0.00548 1|400B/H L=1000 317ke/A
62 |UMIBUINEE 17K 42 | 0.00033 1]150 L=600 10kg

63 JURIIIN S 145 # | 0.00037 1}180 L=600 14kg




69 |UBMRIGE 166 # | 0.00044 1[240 L=600 20kg

65 |ULMIIE 1fd # | 0.00059 1|300 L=600 32kg

66 |URMMINEE 18 # | 0.00073 1/360 L=600 4ikg

67 |URMMiE 158 % | 0.00096 1450 L=600 54ke

68 |UMMIN & 26 # | 0.00065 1{150 L=600 26kg

69 |URMNINE 2/ # | 0.00078 1/180 L=600 3ikk

70 |URMIKE 2/ #% | 0.00093 11240 L=600 44kg

71 (URMIGEE 28 # ] 0.00114 11300 L=600 54ke

72 |URHMIRE 2 # | 0.00137 {360 L=600 63kg

73 |URMMIGZE 27k # | 0.00190 1450 L=600 92ke

74 ISR E 18 # 1 0.00064 IPIS 1fE 250 L=500 29kg

75 ISHUNIRE 118 ¥ | 0.00073 1{JIS 1fE 300 L=300 33kg

76 DISRMINE 178 # | 0.00105 LIS 1fE 400 L=500 47ke

77 DISEMMIRIE 21k ¥ | 0.00072 LIS 26k 250 L=500 /{A'VR 37kg
78 DISEHMIEE 21K ¥ | 0.00081 I'JIS 2fll 300 L=5D0 /{R'VA 45kg
79 |ISEIMIRE 28K # | o.00115 H{JIS 24 400 L=500 /4A'VA 65kg
80 DISEM SV —F 7 # | 0.00326 11250 L=500 #EE T-14 /42VR 15kg
81 DISERS Vv —F -/ # | 0.00358 1/300 L=500 #l8 T-14 /42V2 18kg
82 |NSHNIK SV —F T #% | 0.00668 1{400 L=500 #IB T-14 /MXVA

83 DISEHNR SV —F T % | 0.00391 1{250 L=500 #8 T-25 /4ZVA 18kg
84 PISEHIR S Vv —F s # | 0.00594 11300 L=500 #iE T-25 /{AVA 28kg
8 JISEE S v—F -/ #% | 0.00749 1]400 L=500 #IB T-25 /{AVA

86 |LEUMi% il | 0.00077 1|8k 250A 47ke/fA

87 |LESINME fA | 0.00085 1| $Ki% 2508 59ke/fM

88 |LE(ui% 18 { 0.00099 1|80 300 65ke/ MM

89 ($AM(HIBYL—F74) | 1 | 0.02524 1[PUB 250A 130ke/f8

90 [SRARMGNE L —F 7460 | | 0.02622 1|PUBE 2508 161kse/

91 |#iAkB (B ZL—Fo24) | W | 0.02695 L{PUBE 250C 181ke/ 8

92 AP MBZL—F ot | 8 | 0.03168 LPUBE 300A 164ke/ B

93 Mk (B ZL—F 70 | 8 | 003257 1{PUBt 3008 187ke/f8

94 [Heki(RE/V—F2it) | 48 | 0.032090 1{PUtt 300C 211ke/f

95 [RAMGEEHZL—F 7)) | 8 | 0.04324 H{Putst 400A 236ke/d

96 |KAMGRE T —F76) | 8 | 0.04405 1{PUB 4008 264kg/48

97 AWM GNR T —F /) | 8 | 0.06099 1{PUBE 500A 338ke/ il

98 (kB (MIBYV—F 7 | 4 | 0.06208 1|PUK 5008 373ke/fd




99 |ea—Li(BE) A | 0.00344 1[A%E ¢ 150um 1.=2000

100 {ea— L85 (BEY) A | 0.00398 1{A1% ©200mn  L=2000

101 |ta—2% (BAY) 4 | 0.00480 1P & 250m 1.=2000

102 |ba— 4% (BY) 4 | 0.00567 1{P41% & 300um L=2000

103 je=— L7 (BAY) A | 0.00692 1| P95  350um  L=2000

104 |ba— L% (BEY) A | 0.01050 L{ME P 400mn L=2430

105 [ta—AF (BR) A | 0.01259 1|M1E © 4500 L=2430

106 [gxARawY-bE A} 0.00340 1[M472 ¢ 200m0 L=1000

107 |gkimav2Y-hE it A | 0.00936 1| @250 L=2000

108 |gkimav sy -t e it A | oo1116 1| P92 9 300um L=2000

109 | gkMGas 2Y—-bEHE A | 0.01230 1{P9%2 © 350mn L=2000

110 [Bkfmawy)- bt & | 0.01315 1|P94% $ 400mm L=2500

111 |BRAGaL 2V b A | 0.01791 1|Ai% $450mm L=2500

12 BRI =— B A | 0.00152 1| ®100 1.=4000

13 (W LY =— # | 0.00253 1{®125 L=4000

114 | =— AT A& | 0.00366 1| ®150 L=4000

115 | ey =— L8 A | 0.00607 1] 9200 L=1000

116 [MERIE L =— A& A | 0.00896 1| ®250 L=4000

N7 [y =— A% A | 0.01254 1| ®300 L=4000

N8 MRSy =— 5 A | 6.01710 1| ®350 L=4000

19 A = 4 | 0.02264 1{®400 1.=4000

120 DISTIBRILIGE S A | 0.00936 1/250 L=1000 299kg

121 ST U A | 0.01034 11300A L=1000 354k

122 |ISHIBIG IR A | 0.01148 1§300B L=1000 455kg

123 |ISEVBITIE I A | 0.01295 1]300C L=1000 522kg

124 [NISEIBINTRE I8 A | 0.01360 1/400B L=1000 477kg

125 11SEIRE i A | 0.01506 1[400B L=1000 527ke
ST Lz 126 |7RAZ 7N L | o.00566 0.01|FFAEERIET 22 TOPI3

127 | =29 —h m | 0.00749 0.01/18—8~40(W/C=60 #&47)

128 |4z 29—} m | 0.00749 0.01[18—8—25(W/C=60 ®t7)
BRI 129 | SR i # | 0.00150 LRSI - i s (44 T 3k)

130 | 35i36 R (R he | 0.00083 1

13} {25005 ¥ R (TIHY) he | 0.00125 1

132 { BB b — 1) he | 0.00157 LA YR GABIL T 25 N (1R
L 138 |2hri¥ahdF % A | 0.00314 1




134 |3 B i fEF | 0.00827 1

135 [— B Hil ek A | 0.01254 1

136 | 2hrtt3HRAME R X | 0.00460 1

137 [ K ET B R A | 0.00920 i

138 |— BRE B A | 0.01840 1

139 /8 2H DR he | 0.00467 1

140 (F 7 1T o7 ik B | 0.00254 1

141 G445 & | 0.00548 1

142 |BE R BETEGp LI ul | 0.00191 OHT A7 7S
143 | R B AR B n | 0.00287 0.1|#efF2 7Y — bk
144 {36 R BETEP L B w | 0.00407 0.1|88h=r2)— %

145 |BREL- WAL R t | 0.00814 0.0L|HLBRIAH# T4% - Ry EBM Rz dn sy
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